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594 609 50= 94$ 563K ==425942556247 <4

594 609 50= 94$ 683K ==425942568247 <4

594 60; 50; 74$ 683\ =<;25942468274 <6

594 7 6 74$ 563K ==425942456248 <4

594 7 6 74$ 683K ==425942468248 <4

594 7 6 94$ 563K ==425942556248 <4

594 7 6 94$ 683K ==425942568248 <4

594 706 606 74$ 683\ =;725942468274 86

594 706 606 74$ 7;3\ =;72594247;274 86

594 706 606 74$ 8=3\ =;72594248=274 86

594 706 606 74$ 683\ ==725942468274 <5

594 706 606 74$ 7;3\ ==72594247;274 <5

594 706 606 ;9$ 743JW =<9259424742;9 ;7

594 706 606 ;9$ 743JQ =<9259425742;9 ;7

594 706 606 ;9$ 743JW F=<9259424742;9 ;7

594 706 606 ;9$ 743JQ F=<9259425742;9 ;7

594 709 609 74$ 563K ==425942456249 <4

594 709 609 74$ 683K ==425942468249 <4

594 709 609 94$ 563K ==425942556249 <4

594 709 609 94$ 683K ==425942568249 <4

594 70= 609 79$ 68/;3JQ3QM ===25942468279 ;>

594 70= 609 79$ 68/;3JW3WM ===25942568279 ;>

594 8 60= 74$ 563K ==42594245624; <4

594 8 60= 74$ 683K ==42594246824; <4

594 8 60= 94$ 563K ==42594255624; <4

594 8 60= 94$ 683K ==42594256824; <4

594 8081907 706 64$ 683P\ F=<525942468264 9>

594 8081907 706 74$ 6=3P\ F=<52594246=274 9>

594 8081907 706 89$ 683P\ F=<525942468289 9>

594 8081909 8 64$ 7;3\ =<62594245=264 ;5

594 808190; 706 64$ 683P\ =<525942468264 9<

594 808190; 706 74$ 683P\ =<525942468274 9<

594 808190; 706 74$ 7;3P\ =<52594247;274 9<

594 808190; 706 89$ 683P\ =<525942468289 9<

594 80891908 706 89$ 6=3P\ F=<52594256=289 9>

594 808919089 706 89$ 6=3P =<52594246=289 9<

594 809 709 74$ 563K ==42594245624< <4

594 809 709 74$ 683K ==42594246824< <4

594 809 709 94$ 563K ==42594255624< <4

594 809 709 94$ 683K ==42594256824< <4

594 8180= 7 74$ 683P\ F=<525942668274 9>

594 9 709 74$ 563K ==42594245624= <4

594 9 709 74$ 683K ==42594246824= <4

594 9 709 94$ 563K ==42594255624= <4

594 9 709 94$ 683K ==42594256824= <4

594 ; 70> 74$ 563K ==42594245624> <4

594 ; 70> 74$ 683K ==42594246824> <4

594 ; 70> 94$ 563K ==42594255624> <4

594 ; 70> 94$ 683K ==42594256824> <4

594 = ; 74$ 563K ==425942456254 <4

594 = ; 94$ 563K ==425942556254 <4

5;4 50= 506 64$ 6=3\ =<;25;4246=264 <6

5;4 50= 506 64$ 863\I =<;25;42486264 <6

5;4 50= 506 64$ 963YKS =<=25;42496264 <8

5;4 50= 5078 64$ 543K F==<25;42554264 <=

5;4 606 50; 64$ 683\ =<;25;42468264 <6

5;4 606 50; 64$ 8=3\ =<;25;4248=264 <6

5;4 606 50; 64$ 8=3YKS =<=25;4248=264 <8

5;4 606 50; 64$ 643M F==525;42464264 <=

5;4 606 50; 74$ 8=3\ =<;25;4248=274 <6

5;4 606 50; 74$ 8=3YKS =<=25;4248=274 <8

5;4 606 50= 64$ 743\ ==>25;42474264 <;

5;4 608 50= 64$ 83Y F==<25;42448264 <=

5;4 608 50= 64$ 543K F==<25;42454264 <=

5;4 60; 50; 5;$ 8=3\ =<;25;4258=25; <6

5;4 60; 50; 64$ 683\ =<;25;42568265 <6

5;4 60; 50; 64$ 8=3\ =<;25;4258=265 <6

5;4 60; 50; 64$ 8=3YKJ =>=25;4248=264 <<

5;4 60; 50; 74$ 683\ =<;25;42468274 <6

5;4 706 606 66$ 8=3JQ ===25;4248=266 ;>

5;4 706 606 66$ 8=3JW ===25;4258=266 ;>

5;4 706 606 66$ 8=3\ ===25;4268=266 ;>

5;4 706 606 84$ 8=3JQ ===25;4248=284 ;>

5;4 706 606 84$ 8=3JW ===25;4258=284 ;>

5;4 709 609 66$ 7;3\ ===25;4247;266 ;>

5;4 8081907 706 99$ 7;3P\ F=<525;4247;299 9>

5;4 808190; 706 89$ 7;3P\ =<525;4247;289 9<

5;4 808190; 706 99$ 7;P\ =<525;4257;299 9<

5;4 808190; 706 ;9$ 7;3P\ =<525;4247;2;9 9<

5;4 808190; 706 ;9$ 7;3P\ F=<525;4247;2;9 9>

5<4 60; 50; 74$ 683\ =<;25<42468274 <6

5<4 60; 50; 74$ 8=3\ =<;25<4248=274 <6

5<4 706 606 74$ 7;3\ ===25<4247;274 ;>

5<4 709 606 74$ 8=3JQ ===25<4248=274 ;>

5<4 709 606 74$ 8=3JW ===25<4258=274 ;>

5<4 809 709 64$ 5;/83Y3WM =6525<42564264 <9

5=4 50; 505 74$ 643K =><25=42464274 77

5=4 50; 505 84$ 643K =><25=42464284 77

5=4 6 508 74$ 9;3\ =;825=4249;274 88

5=4 60= 50= 64$ 683\ =<;25=42468264 <6

5=4 60= 50= 74$ 743\ =<;25=42474274 <6

5=4 60= 50= 94$ 743\ =<;25=42474294 <6

5=4 60= 6 64$ 863YKS =<=25=42486264 <8

5=4 60= 6 74$ 9;3YKS =<=25=4249;274 <8

5=4 706 606 74$ 743\ =;725=42474274 86

5=4 706 606 74$ 863\ =;725=42486274 86

5=4 706 606 74$ 9;3\ =;725=4249;274 86

5=4 706 606 74$ 743\ ==725=42474274 <5

5=4 706 606 74$ 7;3\ ==725=4247;274 <5

5=4 706 606 74$ 863\ ==725=42486274 <5

5=4 706 606 74$ 9;3\ ==725=4249;274 <5

5=4 706 606 79$ 743\ ==725=42474279 <5

5=4 706 606 79$ 9=3\ ==725=4249=279 <5

5=4 706 606 84$ 863\ ==725=42486284 <5

5=4 706 606 84$ 9;3\ ==725=4249;284 <5

5=4 706 606 ;9$ 863JW =<925=424862;9 ;7

5=4 706 606 ;9$ 863JQ =<925=425862;9 ;7

5=4 706 606 ;9$ 863JW F=<925=424862;9 ;7

5=4 706 606 ;9$ 863JQ F=<925=425862;9 ;7

5=4 7170= 606 94$ 5=3\ =<625=4245=294 ;5

5=4 7170= 606 94$ 5=3K[ F=<625=4245=294 ;6

5=4 8 7 74$ 863\ ==725=42586274 <5
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694 706 606 74$ 64/83K =<426942464274 78

694 706 606 74$ 643K =;426942464274 7>

694 706 606 74$ 683\ =;526942468274 84

694 706 606 74$ 7;3\ =;52694247;274 84

694 706 606 74$ 683\$SQ47 =<>26942468274 85

694 706 606 74$ 8=3\ =;72694248=274 87

694 706 606 74$ =43\ =;7269424=4274 87

694 706 606 74$ 843\1SJL =;726942584274 87

694 706 606 74$ =43\ =;9269424=4274 8<

694 706 606 74$ 8=3IM =;<2694248=274 8<

694 706 606 74$ ;43YK =;;269424;4274 8=

694 706 606 74$ =43YK =;;269424=4274 8=

694 706 606 74$ =43YK1R =;;269428=4274 8=

694 706 606 74$ =43YKS =;;269426=4274 8>

694 706 606 74$ =43YK1U =;;269427=4274 8>

694 706 606 74$ 8=3YK F=472694248=274 95

694 706 606 74$ ;43YK F=47269424;4274 95

694 706 606 74$ =43YK F=47269424=4274 95

694 706 606 74$ ;43YK F=47269425;4274 95

694 706 606 74$ =43YK F=47269425=4274 95

694 706 606 74$ ;43YKJ =>=269424;4274 <<

694 706 606 74$ =43YKJ =>=269424=4274 <<

694 706 606 74$ =43YKJ F=>=269424=4274 <<

694 706 606 79$ 843\ =;726942484279 87

694 706 606 <4$ 64/83\ =96269424642<4 55

694 706 606 <4$ 5;/63K =<42694245;2<4 78

694 706 606 <4$ 64/83K =<4269424642<4 78

694 706 606 =4$ 64/83\ =96269424642=4 55

694 706 60; 590=< =43YK1SJL =<=269424=4259 <8

694 706 60; 74$ =43YK =<<269424=4274 <7

694 706 60; 74$ =43YKS =<=269424=4274 <8

694 706 60; 76$ =43YK =<<269424=4276 <7

694 706 60; 76$ =43YKS =<=269424=4276 <8

694 707 60; 76$ 96/=3Y =65269424;4276 <9

694 8 60= =4$ 8=3K3WM =<82694278=2=4 ;;

694 8 60= =4$ <63K3WM =<8269427<62=4 ;;

694 8 60= =4$ 8=3K3QM =<82694288=2=4 ;;

694 8 60= =4$ <63K3QM =<8269428<62=4 ;;

694 8 60= 544 8=3K3WM =<82694278=2>> ;;

694 8 60= 544 <63K3WM =<8269427<62>> ;;

694 8 60= 544 8=3K3QM =<82694288=2>> ;;

694 8 60= 544 <63K3QM =<8269428<62>> ;;

694 806 60= 99$ ;43YK =<7269424;4299 96

694 808190; 706 94$ 863P\ =<526942486294 9=

694 809 709 64$ 96/=3Y =65269425;4264 <9

694 809 709 74$ 96/=3Y =65269425;4274 <9

694 90; 70= 74$ 643K =;>26942464274 7=

694 90; 70= <4$ 643K =;>269424642<4 7=

698 606 50= 590=< ;43\J ==>269824;4259 <;

698 606 50= 74$ ;43\ ==>269824;4274 <;

698 608 50; 74$ 683\ =<;26982468274 <6

698 608 50; 74$ 843\ =<;26982484274 <6

698 608 50; 74$ ;43\ =<;269824;4274 <6

698 608 50; 74$ =43YK =<;269824=4274 <6

698 706 606 590=< 943\\Y =;626982494259 86

699 8 60= =4$ 8=3K3QM =<82699248=2=4 ;;

699 8 60= =4$ ;43K3QM =<8269924;42=4 ;;

699 8 60= =4$ 8=3K3WM =<82699258=2=4 ;;

699 8 60= =4$ ;43K3WM =<8269925;42=4 ;;

699 8 60= 574 8=3JQ =<82699248=2>> ;;

699 8 60= 574 ;43JQ =<8269924;42>> ;;

699 8 60= 574 8=3JW =<82699258=2>> ;;

699 8 60= 574 ;43JW =<8269925;42>> ;;

699 8 60= 574 8=3JQ3QM =<82699278=2>> ;;

699 8 60= 574 ;43JQ3QM =<8269927;42>> ;;

699 8 60= 574 8=3JW3WM =<82699288=2>> ;;

699 8 60= 574 ;43JW3WM =<8269928;42>> ;;

6;4 609 50= 74$ 8=3\ =<;26;4248=274 <6

6;4 609 50= 74$ ;43\ =<;26;424;4274 <6

6;4 609 50= 74$ =43\ =<;26;424=4274 <6

6;4 609 50= 74$ ;43\1SJL =<;26;425;4274 <6

6;4 706 606 74$ =43YKS =<=26;424=4274 <8

6<4 606 50= 74$ ;43\ ==>26<424;4274 <;

6<9 706 606 64$ 8=3\ =;726<9248=264 87

6<9 706 606 64$ <63\ =;726<924<6264 87

6=4 706 606 74$ ;43YK =<726=424;4274 96

6=4 706 606 74$ ;43YK ==726=424;4274 <5

6=4 8099 709 89$ =83\ =<526=424=8289 9=

6>4 806 7 99$ ;43YK =<726>424;4299 96

744 60< 50= 74$ >;3\ =;8274424>;274 88

744 60< 50= <4$ 6=3\ =;52744256=2<4 84

744 60= 50= =4$ 8=3YY =;42744268=2=4 7>

744 60= 6 74$ 64/83K =<427442564274 78

744 60= 6 <4$ 64/83K =<4274425642<4 78

744 60= 606 74$ >;3\J =>9274424>;274 <;

744 60= 606 74$ 643K F==<27442464274 <=

744 706 606 6908 >;3\ =;7274424>;26; 87

744 706 606 74$ 68/6/63\ =9627442468274 55

744 706 606 74$ 64/83K =<427442464274 78

744 706 606 74$ 5=/73K =942744245=274 7;

744 706 606 74$ 683K =;427442468274 7>

744 706 606 74$ 6=3\ =;52744246=274 84

744 706 606 74$ 7;3\ =;52744247;274 84

744 706 606 74$ 6=3\ =<>2744246=274 85

744 706 606 74$ 7;3\ =;72744247;274 87

744 706 606 74$ 8=3\ =;72744248=274 87

744 706 606 74$ ;43\ =;7274424;4274 87

744 706 606 74$ <63\ =;7274424<6274 87

744 706 606 74$ >;3\ =;7274424>;274 87

744 706 606 74$ 7;3\1SJL =;72744257;274 87

744 706 606 74$ 8=3\1SJL =;72744258=274 87

744 706 606 74$ >;3\ =;9274424>;274 8<

744 706 606 74$ <63YK =;;274424<6274 8=

744 706 606 74$ >;3YK =;;274424>;274 8=

744 706 606 74$ <63YK1R =;;274428<6274 8=

744 706 606 74$ >;3YK1R =;;274428>;274 8=

744 706 606 74$ >;3YKS =;;274425>;274 8>

744 706 606 74$ >;3YK1U =;;274427>;274 8>

744 706 606 74$ <63YK F=47274424<6274 95

744 706 606 74$ >;3YK F=47274424>;274 95

744 706 606 74$ <63YK F=47274425<6274 95

744 706 606 74$ >;3YK F=47274425>;274 95
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794 709 609 74$ 763\ =<>27942476274 85

794 709 609 74$ 983\ =;727942498274 87

794 709 609 74$ <63\ =;7279424<6274 87

794 709 609 74$ =8\_$SQ47 =;7279424=8274 87

794 709 609 74$ 54=3\ =;72794254=274 87

794 709 609 74$ 54=3\ =;92794254=274 8<

794 709 609 74$ =83YK =;;279424=8274 8=

794 709 609 74$ 54=3YK =;;2794254=274 8=

794 709 609 74$ 54=3YK1R =;;2794284=274 8=

794 709 609 74$ <63YK F=47279426<6274 95

794 709 609 <4$ 68/;3\ =96279424682<4 55

794 709 609 <4$ 68/;3K =<4279424682<4 78

794 709 609 <9$ 68/;3K =<4279424682<9 78

794 709 609 =4$ 68/;3\ =96279424682=4 55

794 709 609 =4$ 68/;3K =<4279424682=4 78

794 709 60; 74$ 54=3YK =;;2794274=274 8>

794 70; 608 74$ 683Y ==527942468274 8;

794 70; 608 =4$ 64/83K =<4279424642=4 78

794 70; 608 =4$ 743K =;4279424742=4 7>

794 70; 609 74$ 64/83K =9427942464274 7;

794 70; 7 74$ =83YK =<<279424=8274 <7

794 70; 7 74$ 54=3YK =<<2794254=274 <7

794 70; 7 74$ =83YKS =<=279424=8274 <8

794 70; 7 74$ 54=3YKS =<=2794254=274 <8

794 70; 7 76$ =83YK =<<279424=8276 <7

794 70; 7 76$ 54=3YK =<<2794254=276 <7

794 70; 7 76$ =83YKS =<=279424=8276 <8

794 70; 7 76$ 54=3YKS =<=2794254=276 <8

794 70; 7 84$ =83YK$ =<<279424=8284 <7

794 70; 7 84$ 54=3YKS =<=2794254=284 <8

794 70= 609 74$ 5;3K =982794245;274 85

794 70> 609 <4$ 58/83\ =99279424582<4 7;

794 8 7 <9$ <63YKJ F=>=279424<62<9 <<

794 8 7 <9$ =83YKJ F=>=279424=82<9 <<

794 8 7 =4$ =83YKJ F=>=279424=82=4 <<

794 808 7 74$ 68/;3K =;=27942468274 79

794 808 7 <4$ 68/;3K =;=279424682<4 79

794 808 706 74$ 983\ ==627942498274 95

794 808 706 74$ <63\ ==6279424<6274 95

794 808 706 74$ <63YK =<7279424<6274 96

794 808 706 74$ 54=3YK =<72794254=274 96

794 808 706 74$ <63YK1U =<7279424<6274U 98

794 808 706 74$ <63YY =<7279426<6274 99

794 808 706 74$ <63YK F=<7279424<6274 9;

794 808 706 ;4$ 98\_ ==6279424982;4 95

794 808 706 ;4$ <63\ ==6279424<62;4 95

794 808 706 ;4$ <63YK =<7279424<62;4 96

794 808 706 ;4$ ;43YK1U =<7279424;42;4U 98

794 808 706 ;4$ <63YK1U =<7279424<62;4U 98

794 808 706 ;4$ <63YK F=<7279424<62;4 9;

794 808 706 <9$ 983\ ==6279424982<9 95

794 808 706 <9$ <63YK =<7279424<62<9 96

794 808 706 <9$ <63YK1U =<7279424<62<9U 98

794 808 706 <9$ <63YK F=<7279424<62<9 9;

794 808 706 =4$ <63YK =<7279424<62=4 96

794 808 706 =4$ <63YK1U =<7279424<62=4U 98

794 808 706 =4$ <63YK F=<7279424<62=4 9;

794 90; 70= 74$ 6=3K =;>2794246=274 7=

794 90; 70= <4$ 6=3K =;>2794246=2<4 7=

799 606 50= 6908 >43\ ==>279924>426; <;

799 606 50= 74$ >43\ ==>279924>4274 <;

799 8 60= 574 <63JQ =<8279924<62>> ;;

799 8 60= 574 =83JQ =<8279924=82>> ;;

799 8 60= 574 <63JW =<8279925<62>> ;;

799 8 60= 574 =83JW =<8279925=82>> ;;

799 808 706 74$ <63YK =<7279924<6274 96

799 808 706 74$ <63YY =<7279925<6274 99

799 808 706 ;9$ <63YK =<7279924<62;9 96

799 808 706 ;9$ <63YY =<7279927<62;9 99

799 808 706 <9$ <63YK =<7279924<62<9 96

799 808 706 <9$ <63YY =<7279925<62<9 99

799 808 706 =4$ <63YK =<7279924<62=4 96

799 808 706 =4$ =83JW3WM =<8279927=82=4 ;;

799 808 706 =4$ =83JQ3QM =<8279928=82=4 ;;

7;4 808 706 74$ <63YK =<727;424<6274 96

7;4 808 706 ;9$ <63YK =<727;424<62;9 96

7;4 808 706 ;9$ <63YK1U =<727;424<62;9U 98

7;4 808 706 ;9$ <63YY$ =<727;425<62;9 99

7<4 808 706 74$ <63YK =<727<424<6274 96

7=4 709 7 76$ 5543YKS =<=27=42554276 <8

7=4 8 7 =4$ =83YKJ F=>=27=424=82=4 <<

7=4 808 706 74$ <63YK =<727=424<6274 96

7=4 808 706 74$ <63YK F=<727=424<6274 9;

7=4 808 706 94$ <63YK =<727=424<6294 96

7=4 808 706 94$ <63YK F=<727=424<6294 9;

7=4 808 706 ;4$ <63\ ==627=424<62;4 95

7=4 808 706 ;4$ <63YK =<727=425<62;4 96

7=4 808 706 ;4$ <63YK1U =<727=425<62;4U 98

7=4 808 706 ;4$ <63YY =<727=427<62;4 99

7=4 808 706 ;4$ <63YK F=<727=425<62;4 9;

7=4 808 706 ;9$ <63YK =<727=424<62;9 96

7=4 808 706 ;9$ <63YY =<727=425<62;9 99

7=4 808 706 ;9$ <63YK F=<727=424<62;9 9;

7=4 808 706 =4$ <63YK =<727=425<62=4 96

7=4 808 706 =4$ <63YK1U =<727=424<62=4U 98

7=4 808 706 =4$ <63YK F=<727=426<62=4 9;

7=4 80; 706 =4$ <63YK =<727=424<62=4 96

7=4 80; 706 =4$ <63YK F=<727=425<62=4 9;

7=4 80= 709 ;4$ 983\ ==627=424982;4 95

7=4 80= 709 ;4$ ;43YK =<727=424;42;4 96

7=4 80= 709 ;4$ <63YK =<727=424<62;4 96

7=4 80= 709 ;4$ <63YK1U =<727=424<62;4U 98

7=4 80= 709 ;4$ <63YY =<727=426<62;4 99

7=4 80= 709 ;4$ <63YK F=<727=424<62;4 9;

844 60= 606 690 5443\J ==>2844254426; <;

844 7 606 74$ 5693\8K =>528442569274 89

844 709 608 74$ <=3IM =;<284424<=274 8<

844 709 609 74$ 6=3\ =;52844246=274 84

844 709 609 74$ 7;3\ =;52844247;274 84

844 709 609 74$ 7;3\ =<>2844247;274 85

844 709 609 74$ 8=3\ =;72844248=274 87

844 709 609 74$ ;43\ =;7284424;4274 87

I G g i _ Wjk2 I G g i _ Wjk2
Vcig(

Vcig

Vcig(

Vcig

Qoc]e)m_[l]b)

R_]b_l]b_)l[jc^_





'&

A A A" 3 = 2 C 6 ? 2 " 0 ; 8

944 8 60= 74$ <63\ =;7294424<6274 87

944 8 60= 74$ 54=3\ =;72944254=274 87

944 8 60= 74$ 5883\ =;729442588274 87

944 8 60= 79$ <63\ =;7294424<6279 87

944 806 708 74$ 5843YK =<<29442584274 <7

944 806 708 74$ 5843YKS =<=29442584274 <8

944 806 708 76$ 5843YK =<<29442584276 <7

944 806 708 76$ 5843YKS =<=29442584276 <8

944 808 60= 74$ 883\ =;529442488274 84

944 808 60= 74$ ;43\ =;5294424;4274 84

944 808 60= 74$ 883\ =<>29442488274 85

944 808 60= 74$ 7;3Y ==52944247;274 8;

944 808 60= 74$ 7;3\ =>;2944247;274 8;

944 808 60= 79$ ;43\ =;5294424;4279 84

944 808 706 74$ <63\ ==6294424<6274 95

944 808 706 =4$ <63\ ==6294424<62=4 95

944 80= 709 74$ 588\ =>529442588274 89

944 80= 709 79$ 5883\ =>529442588279 89

944 80= 709 ;4$ <63YK =<7294424<62;4 97

944 80= 709 ;4$ <63YK F=<7294424<62;4 9;

944 9 70; <4$ 58/;3\ =99294424582<4 7;

944 ; 70> 74$ 76/;3K =;=29442476274 79

964 808 706 74$ ;43\1SJL =;7296424;4274 87

964 808 706 74$ <63YK =<7296425<6274 97

964 808 70= 74$ 5643YK =<<29642564274 <7

964 80; 708 74$ 5883\ =>529642588274 89

964 80= 709 ;4$ <63YK =<7296424<62;4 97

964 80= 709 <4$ <63YY =<7296424<62<4 99

964 9 7091;0= 599 64/;3K$QM =<4296424642>> 7<

964 9 7091;0= 599 64/;3K$WM =<4296425642>> 7<

974 80= 709 <9$ <63YK =<7297424<62<9 97

994 806 706 74$ =83\ =;7299424=8274 87

994 806 708 74$ 5543YK =<<29942554274 <7

994 806 708 74$ 5843YK =<<29942584274 <7

994 806 708 76$ 5843YK =<<29942584276 <7

994 808 7 74$ ;43\ =;5299424;4274 84

994 808 706 74$ 5643\ =;729942564274 87

994 80= 706 74$ 883\ =>;29942488274 8;

994 80= 708 74$ <63\ =;7299425<6274 87

994 909 70= 84$ ;43YK =<7299424;4284 97

9<4 809 709 874 5>3QM =>729<4245>244 7<

9<4 809 709 874 5>3WM =>729<4255>244 7<

9<4 80= 709 ;4$ ;43YK =<729<424;42;4 97

;44 80; 8 74$ 5843YK =<<2;442584274 <7

;44 80; 8 74$ 5843YKS =<=2;442584274 <8

;44 80; 8 76$ 5843YK =<<2;442584276 <7

;44 80; 8 84$ 5843YK =<<2;442584284 <7

;44 906 70= 74$ 8=3\ =>;2;44248=274 8;

;44 908 8 74$ 5<63\ =>52;4425<6274 89

;44 90= 8 ;4$ ;43YK =<72;4424;42;4 97

;44 90= 8 ;4$ <63YK =<72;4424<62;4 97

;44 90= 8 ;4$ <63YK F=<72;4424<62;4 9;

;44 ; 70> 74$ 7;/;3K =;=2;44247;274 79

;44 ; 70> 74$ ;43\ =;52;4424;4274 84

;74 908 808 74$ 5=43\ =>52;7425=4274 89

;94 808 706 74$ 983\ =>;2;942598274 8;

;94 906 70= 74$ 983\ =>;2;942498274 8;

;94 90; 70= 74$ >;3\ =;52;9424>;274 84

<44 808 706 74$ ;43\ =>;2<4425;4274 8;

<44 90; 8 74$ ;43\ =>;2<4424;4274 8;

<64 ; 808 74$ <63\ =;52<6424<6274 84

<79 ; 808 74$ <63\ =;52<7924<6274 84

<;4 ; 808 74$ <63\ =;52<;424<6274 84

=44 ; 808 74$ =43\ =;52=4424=4274 84

=74 90= 80= ;=4 <=3K3WM =<82=7425<=2>> 7<

=9= 809 7091<08 ;>9 ;43K3QM =<82=9=24;42>> 7<

=9= 809 7091<08 ;>9 ;43K3WM =<82=9=25;42>> 7<

5444 80= 70; 84$ =43\ =;52>>>24=4284 84

I G g i _ Wjk2 I G g i _ Wjk2
Vcig(

Vcig

Vcig(

Vcig

Qoc]e)m_[l]b)

R_]b_l]b_)l[jc^_
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A A A" 3 = 2 C 6 ? 2 " 0 ; 8

I G g i _ # SQ3YP Wjk2

659 808190; 706 94 86 =µ 73593=4/63<3=4 Lngjs =<526592486294

80=190= 709 94 86 =µ 73<3=4$/73593=4 Lngjs =<526592586294

664 ;091<08 809 64 7; =µ 63>3554/63553;; Xhmjqqnsl =<52664247;264

694 808190; 706 94 86 =µ 73573=4 Lngjs$6 =<526942486294

6=4 8099 709 89 $=8$\ 59¿
Mtq�rf$MUU694$

Utxyktwrnsl
=<526=424=8289

744 808190; 706 74 7; =µ
63573>8/63>3544

/63>3554/63553<7
Xhmjqqnsl =<52744247;274

808190; 706 74 8= =µ
63573>8/63>3544

/63>3554/63553<7
Xhmjqqnsl =<52744248=274

808190; 706 94 8= =µ 73593=4 Lngjs =<52744248=294

808190; 706 ;9 8= =µ SQ;9 Xjqht$JG =<52744248=2;9

808190; 706 =4 8=$P\ =µ SQ=4 XHR =<52744248=2=4

8099 709 =4 <6$\J 59µ SQ=4
Lfggnfsn

Utxyktwrnsl
=<5274424<62=4

784 904 709 89 54=$\J 59¿ 73583;9
Mtq�rf

Utxyktwrnsl
=<52784254=289

,+%
Cihc][f)m]ilcha)m[q)\f[^_m)

Ih]cm_olm)]ihcko_m

Rfhmnsj$
Rfhmnsj
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A A A" 3 = 2 C 6 ? 2 " 0 ; 8

Qo_ls)`il)mj_]c[f)m[q)\f[^_m)

Qo_mncihh[cl_)jiol)f[g_m)^_)m]c_)mj�]c[f_m

]qtmrkgeg(ocvgtkcn 3(Scv�tkgn(�(wukpgt

((Yqnkf(yqqf 3(Hqku(ocuukh(

((Nctf(yqqf 3(Hqku(fwt

((Vncuvke(ncokpcvgu 3(Rcokp�(rncuvke

((Vctvkeng(dqctf 3(Vcppgcwz(fg(rctvkewngu

((Iqcvgf(rctvkeng(dqctf 3(Vcppgcwz(fg(rctvkewngu(tgx�vwu

( ( ((7(hceg 3(7(hceg(((((((( ((8(hcegu3(8(hcegu

((SJL 3(SJL

((Iqcvgf(SJL 3(SJL(tgx�vwu

( ( ((7(hceg 3(7(hceg(((((((( ((8(hcegu3(8(hcegu

((Gnwokpkwo 3(Gnwokpkwo

((Uvjgtu 3(Gwvtgu

Iwvvkpi(ugpug 3(Ygpu(fg(eqwrg

((Iwvvkpi(ykvj(vjg(itckp 3(Rqpikvwfkpcn(.gp(cxcncpv(fgu(hkdtgu/ ((Iwvvkpi(cickpuv(vjg(itckp 3(Ztcpuxgtucn(.eqpvtg(ngu(hkdtgu/





,(

A A A" 3 = 2 C 6 ? 2 " 0 ; 8

NL85) 85>5;8185@5;=2;185765=6

NL87 85775=9

NL9; 85775>6185795?6

NL;5 ;5795?6

NL;; 95>5==195=5?;

NL<5
85765?6185775?<1857;57661
8577577<1857@57861857;578<1
857757;?

NL<;
85@5@<185@576618@57761;57<576
<185775766185>5776

NL=5 ;57757961;5=4<5796

NL=;
;57757661;57<576<185>5776185765
786195>5766

NL>5
;5@57661;57@5786185@5776(
185@57961857;5776

R[cg[hh
=5<2<5@71;5=2=5@<1857957661
8QT7?2<^92<

85>5;8185@5;=2;185765=6TR96 TR98 TR;< TR<6

TR>6TR=6 TR=<

XckocppTR?6TR><

TR<<

# TERMINOLOGY

H(( ( 3(Iwvvgt(ykfvj
d(( ( 3(Hqf{(vjkempguu
J(( ( 3(Iwvvgt(fkcogvgt
f(( ( 3(Hqtg
LR(ocz(( 3(Lncpig(fkcogvgt
QT(( ( 3(Qg{yc{
TR(( ( 3(Vkpjqng
p4(ocz((( 3(tro
X|(( ( 3(Yetcrgtu
ZQ(( ( 3(Jkcogvgt(hqt(rkp(jqngu
Z(ocz((( 3(Mtqqxkpi(fgrvj
`(( ( 3(Kfigu
#(( ( 3(Iwvvkpi(cping

.7/( Vqukvkxg(jqqm(cping(
.8/( Tgicvkxg(cping
.9/( Kzrcpukqp(unqvu
.;/( Kzrgpukqp(unqvu(ykvj(eqrrgt(tkxgvu
.</( Iqqnkpi(unqv(5(uetcrgtu
.=/( Ijkr(vjkempguu(nkokvcvkqp(
.>/( Qg{yc{
.?/( Vkpjqngu
.@/( Xgeguu(hqt(jqiigt

.76/( Iqwpvgtukpm(jqngu

)# TERMINOLOGIE

H(( ( 3(�rckuugwt(fg(eqwrg
d(( ( 3(�rckuugwt(fw(eqtru
J(( ( 3(Jkco�vtg(fg(eqwrg
f(( ( 3(Gn�ucig
LRocz(( 3(Lncpig(fkco�vtg
QT(( ( 3(Xckpwtg(fg(encxgvvg
TR(( ( 3(Ztqwu(f�gpvtc�pgogpv
p4(ocz((( 3(\kvguug(cpiwncktg(.tro/
X|(( ( 3(Mtcvvgwtu
ZQ(( ( 3(Kpvtczg(fg(vtqwu(f�ctiqvu
Z(ocz((( 3(Vtqhqpfgwt(fc(nc(tckpwtg
`(( ( 3(Iqwvgcwz
#(( ( 3(Gping(fg(eqwrg

.7/( Gping(fg(eqwrg(rqukvkxg(
.8/( Gping(fg(eqwrg(p�icvkxg
.9/( Lgpvg(fg(fkncvcvkqp
.;/( Lgpvg(fg(fkncvcvkqp(1(tkxgv(ewkxtg
.</( Lgpvg(fg(fghtqkfkuugogpv(5(itcvvgwtu
.=/( Rkokvgwt(fg(tghtqkfkuugogpv(
.>/( Incxgvvg
.?/( Ztqwu(f�gpvtc�pgogpv(
.@/( Kpeqejg(rqwt(ugiogpv(fgejkswgvgwt

.76/( Ztqw(fg(hkzcvkqp

)# TROUS)DvENTRA�NEMENT)STANDARD# STANDARD)PINHOLES

T_]bhc][f)ch`ilg[ncih)

Ih`ilg[ncihm)n_]bhcko_m














